qt,} e NN, S

)
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. 1:-\'"" R : X NG A : !
O Y el 58 - e mean, mae C{'-—IS teachers | - ]
= SrTatiSties Example 53 - 3 - =7 = =8 =0 |
Avithmet: Sum of all observaticns teachers ave =5,42,48, X, x+8, 40,143,530, L L a
Yithmetic Mean = o _ 1 - o2 .
N . o - in yeavys). Find the
‘ | &ﬁﬁb@f of Obsevvations A 1. 2253 4e Gy ) [= =43 |
lE % < value Oi X and uskhown ages of ther B | | E AP el |
T A teachers ? | Fifibea ey oo = 4o |
“The ‘{a'“_-j waqes o* a workey -j:m- fo' 1 R Yition F— - BRI pore e | 2 THSL 4R
| d?\-’@ 1S as fo\loms . Find the average | e I Total aqes ot -tenche‘rS‘ !ExET cise S-\
r'**ﬁvp&m of the woxker. P Number of teacherS. 11-Fillin the bloanks |
1:\;#\ . : \ & _ " § | : : .
o o’))r | | 1 | | e 321383 140 t(‘)"The mean of first ten notuval DUMBENS >
9 1i.9- 4_3 4 = & | 7 | 8 | Q7| 1© 25+42+48+x+(x18)+ucty3+S0+46+50 +3T+321 ¥ Lrl't £
! 1 ' 3 — —_ S - I 1
}?’éj 250|350 | {00 | 4oo ||So | 27C 450I320 L0 TS50 A= | Sum of  all cbseyvaticns
% = i o l |‘ - 5504+ 2 % B g
g oluthien: S = -2 | X vations3 |
WS v~ %&all chsesvaticnd \2 3 ' B Gi Dbse; 4 {0 !
L E ——um’ . : . 4 |
Avithmetic mean= ——— = & TS BBt ax = 42axIS | = ra2+arht5v6tiT 3
Nurmbes cf obseryvation -y ; 10
B550+2x = £320 :
+ioo + \ 27c A4S0 +32C+EIC+ 150 =0 | - =%
=25o+35ﬁ HeS A \ST + 1 X 2x — £330 — 5 | o
| Yo | Car- | —
LA 2% = | | an— s.
J.;_;}‘“ 2650 o 12 R 5-5 10000 Ty
.ﬁ"’ 1O ‘ I 2 \ i'_(ii)__j:-s R BT AIRTER PT.1CE-' ~
, eSO 0= q,gj _ 3 4

' o1 J }\5 becks 15 T 225, then the Fotal
[ % the age of the deacher (x) =40 |

E_E'xa.mﬂe S22 L"Tbe age of the ancthex teacher (x+8)= jo+8 = “rB_

Fhe owerone incame. of fhe wevkes 's T365

Sell 't‘nj PT: e~ Y

oS, 18 2Ly “' & Loelling price — =5 2345 |
| “The mean oi =] QE%:&‘Vahon n; L EXample .=k T! e fmean of the &Ol\uﬁ_rﬁ AVEYClﬁ == If‘ PYIC 2
 Find the _=sum ok‘tﬁe, 9 obsexvation3. A s = =5, flhd TR, | of - Numpber 4 beecks = iS5 |
Facsa o g | 2L ag a3, . b |
| —Sum ot «ll obgevvations i i PR Se,36, 21,30, : - 49 The -tc'ta\ selling pyice it - ;
- Arithmetic mean= - —_ ‘_‘:':&ciutlcn'. = e et P\vesaﬁﬁ | ”"-'? 'r---?-
; ! P\\\\ Numbey of oObsesvations 5 Sum o} all cbsesvatlicns Numbey cof bPeokS &
| \fi = aTiens 3\ ean = - ® - =
i@ﬂ}b\_ﬂm O‘b a\l obscyv: e L P . Mitin by E{: ObSe!YaﬁcnS : —Th& ‘to‘t-ﬂ\ SQHtr}j P'ﬂc-'?' — T 235 4 3% _"-__”J-. i
9 \D X 75
> L +x+3T+ 28436+ 27T+ 354 34 + 381T49+33 — =9 = :;Z = |
= —_ = ; . — 5 %15 = 1
_Sum of all cbheexvations = 24 %9 i The “total 53“11’5 prc B s
|
s .
= 216 -513+ = 38 The. 'tb‘t.‘d-l. Se\hrj PTlC-E- = ¥ 3525 ;
O l
; -\ 1 ==
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T —

92412 lu,lr,ﬁ,!o;'i's IB)'The maxkS Of " _si:uderrts n oo _Science_

‘l‘&%‘t out nt S0 ave <=pwwen below. 34,232,045,
HH;HT 35, 37, 41, 20,28, 52, 45,39 . —ind
MVthe mean ravk . (h)-the Mo imum mask Oktained
(i) The miniraum ) mmark c:’crt-a.‘me;i.-

—=olution:

(1) Mean marks —

= 1:-{ al Obsevyvations

pro—

Numbe's ob obServatong
249 + S+ h+y + 8+\0
-

—Sum of all marks

".'.".3‘
7

TEenn

Number of Students

(N)The ﬂVETOﬂ!.of 1ntejers between —ioto lo |5

E—

6] 1

' A e P e BTSN ——— S — - _ZI
2
YY - |511

3 The heuj‘n‘t oY fwo _=dudents =Y and Y+4
) — 152 & 152+l1

—152C(m £ l56cm

(O)'_he mean 0—5 FUnNS _ﬁc‘:-«:rec‘ bj X Cf:CkeT

5‘I~+23+10-rf+5+i|-l+-t-l-|-"f1"35+31+#1T30*13+32*’15*311.t€ﬂm n the last 1o Innings s 276; 5 B

y 315,410,

Avemje; _ —Sumof all obgeyvations e I _g.c,..,:e& XYC. N 25 L.,ﬁ; 351, 108 - 5
3 = 260,2 he ‘nd Hhe.YurS Scorve
umber of obksevvations ™ |65, 84  then tin
_ TGRS T ——j—cuﬂh 1ﬂﬁ-ﬁJ§
L A=E8-1-6-5-13-2-1+o 21315+t NSH | — =g :
I PR {4 __E:c:\u-tmns
L OlG rl“-"\eah maT'k.S - 35J | M __.I,..D_Eal. yuns Gt QH iﬂnil'ﬂjs
¥ NGRS | ean =
A (H)Mammum mas op—t-mne:i : 0T )
, Numbey ﬂ.ﬁ mmﬁﬁS
Hvew}je & f(m) Minimum marvk c:b't‘amec'\ ==T0 l |
| 2 354 4oo+35 1+ +)0c 1315 +410 11651260 +284

2. Ages of 15 -S'tuden’c& in sth
13,12,13, 13,12,13,13, 14 1. 13,13, 14,13, 12,11 - Find ’rhamenn
age  0f the .ﬂmc\en‘lz AN

nc\arcl_ s

IS0eM . The. he_-,Shts of the _=tudents a¥&
ISk €M, IyBem, Yem , Yty em, |60cm, IS1Cm, I49Cm, 149Cm |

~_%n\uhom \ fhe students ISocm, [yyem and I4ocm. Find the value ol
—_fu.m oy all &ges "i and the heights of two stuclents ¢
Mean ag = Solution

N 0 es, the s-tuc\enhs
umbexy hﬂj ”h : =um.of heights o} all students

(4)7The mean height of |\ students ina g¥oup = J776=

|
1
|
| S B2c+x= 2T6XIO
|

|O
2 5204 K

e —
—

2 16
(O

25204+%x= 2760

X Mean hei ht = o= 2 T60—-2520
13412+ 13 412 F13THS -}lq-ill'\'i?*"?-’*"*ﬂa*m“”’ 3 Num bex of _students 1 Sl Al
=== —— ‘5 "ll 2. = 2_,_1_0}
"l5q+fq5+Y+(Y+q)+ibo+15|+ 49+ 149+ 150+ 1y e = ¢
k. 145 ‘..' v 1l = is0 S The Yuns _=coved n -the Jourth
\ ’5. alsl S — N D
1 246t 2 o PR PO
~ = \50 ) Find
ST T 5 (6 Fin iha mean c:uj the —joug___cs Aata .
2 E*H%,HB 5,51 4T 4.5,52, 5:4/6.8, 4-3
the student BloEarie 1= O x| = ; )
%emﬂanajej | .5&' .2, 55
1246 +2Y = 1650 | —tiution
¢ SN —X = |65 —1346 RN e L :.-t all ocbseyvatieng
| RO Mean - -
*\E"-} > e 1 Y 3 30"" thﬁbe'g‘ ‘:;at GbSE"quhﬂﬁS_
—— —— ——— | TS e e "'""l"".',,- . e APE SV
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-

19 The mean of irst fifteen ewen numbers  [Exampl 5:6 Find the mede o he 3‘:@5

BB 3 B 5t T 55245 etk -3156

.,.Mea.n.. | +5:245.5 1S & _Set O’j NumkeyS. S 7 )0 |12, 4 ; B 10}3,#"‘
svations
| 1:1- mn:._fumo} a\\ obse 3 _"5,7,?110, 5,]:2_‘,”3’2;::,5,
Qa0 \jSy\i.?--'.‘?” Dumbey % obesgnhion> -’_é,?_\_“‘ﬁ ZA0 | 1
o [y 28430 : 3 in ascending oraef-
N¥ o A bABA o ke HIB Rz oy 2 2+ 426428 Avranging e numbers. in 3
3 24 = 3,3, l4,5,9,5,5:5,7,7,9,10,10,10,12,12-, 16, 2O

oarGmMum Number C’S‘ TmeS

ﬁ)Aﬁ‘(’nmeﬂc. mean 10 ohsesvations was

— 240 ~ S oty Ity |
o | Ly A = E . ]
b was 1o be added 1o the data, what would| 6 Tean=i6) [Ans: Gii) 16 \ Example 56 The marks obtained byl
be the. hew mean? | ~———1 Students of & class in a testidve
—e\ution: 0- The avevage of two Numbe¥S Y= s loie . 3. 21,1528, 28, 24YSK, XS
- . 3 -S ] 2 [ » ’ 7
Aﬁthmetic. mean °§ 0 obsexvations =22 One. numbeY 1S 24, ancthey numbey 1S | Find the mode o} the mavks.
—Sum 08- {s} obsewahons i3 2_2_' Let the number be ——olution;
0 i | Avranqing the mavks in asceﬂﬁiﬁj ovder .
‘0 ot 2 LS 2.0 j J a 06, 34, 98
.Sblm Gi’ \0 ObSeWaﬁOHS - ‘.'2..‘2-)(10 t 5% 7 Q.JIBqu:Q.II 13J13?13:1 o 3 3 :
\ - | —_ 20 % 2- . 4 : n mpey © +imesS
S of 1o obsesvations = 220 e ram o 28 occurs maximu MmbRY o)
N 2 +ak = hO Mode of marks = 2.3 |
H'\b‘) number is addec‘" (e 28 = Ko—=2H kL = s e e B OB & ML
i S&mabloﬂhs"-waﬁons-‘-'ﬂ? T”‘ } 16] : 2 Exam‘p\e 5.7. find the mode ol the |
sVvalionsS = - dife \ —— e |
Mean of || obse 0 3 £ rA"S' (D16} j-‘ouowmj data 123,132,145 ,176, 180, 120. |
ot P | 2201 bl I\ —The Mean oi the clai'a, 12,=%x,28 1S 'B'F'Ind _
. AN o TS i\ Solution: f
{.1 % N “H’]Q ml“-e Ox' €xX. I
= -?-—E-’-& “Theve js no Te.Peti’don OS Va\ue.:s. |
l‘ |Q_+'.1+2-8_- e \% : =% ) WAL '
Maan of Il Obsesvations = 2 3 | | Theve s no mode.

(7oA,
T

"v\? .. k| ' o472 = Sl,r FSRRT NS &S o B
- i %1 %= k-0 W

% ¥ Mode is the wvalue OE the data . which

| |
Objec‘ti\@- € %es‘hons +i aJU.Q. r')t pe \Lr] ‘ Occurs maximum pnumpery DE +imes. 1
L] J mSen Ve.- V i |

2 1Sy, Bep P | > x A dala is o} lavge size, mode |

_ o X\ S° (lll)l Ca be -%oun(s. out atter srou ing- ,n
L Al \3@@. ~ Ans: ) Mean. )G 1 ) P
WhIRR AR Bt |

: U1 L S A O | T WL —— SLol - AN ’

y 7 e — - i s » f
b = 4 § - - ; i)l 5 o J 5
il 121:1~:. ; . als kindly send me your key Answers to our email id - padasalai.net@gmail.com \
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y ==E\e &6 Find the mode of —the S % e 4
-g,-: [—XeYci1Se 5.1 : / \ |
| ollowing data. 14,15,12, 14 ,16,15,17, 13,16,16, | |- Find o) LF‘“C\ the mode of the :Fol\om.nj dater.
» ) in he- m e O% ‘H‘\e, -S'G\low'nna c‘a..‘t'a.. |2_,||_},\9_ 6.15.1> “_* '\ 8 19 12,04 \s | I \ 16,15
‘5 ‘2-,‘6 ls ‘3 “.', '5 IS '5. '1 ls | 2 ] b F 7 [ ) ] b y 6; 5} 6: ] 'rl—a”
AT 4, 18,1902, 14, 205l 2 61,9 71,55 8,6,10,3,2,,2 13,16,16, 15,15,13, |
15, 16,15, 16, 3,12 AP S e R /16,16, 15,15,15, 15,17, 15, 14 ,15,13,15, 1k-
) 13, PR Solution: BN Solution:
Solution: o\ . el A RIS AR BRI
AT . _ | AW‘an%\ng the numbers in ascenc\:ns ovder. . Dbseyvation. “Tally marks | frequency
X 1 "rn,lls mar ks Freq,uencﬂ 2.,2,2, 22.3 4,4,4,5,5, 6, 6, T:77,8,10 | I 9 - 5 ¢ :
\ i i
3 o \ = 7 :: £ 2. occurs maximum numbexs Q.t +Hmes ;i________'i%__,___d__ el ‘!l!_ A G54 _‘{'t_ i
*. i e =92 | i 1‘:}' Y | m\ S ' L
R o E AR o5 R
\ & 25 i e number of po\nts ._5c-o~rEcl btj a Kabadd —_— L “hu, by | 1Q |
E M Q . 16 | o
+eam n 20 matzches ave. 26,35, 27,2829 = Lo A T b L | 6
16 LU | 6 : Sl o1 | | ; | -
o | 2\, 32,3), 35,38 38, 3|, 28 31,34, 33, 34, 3), 3029, |7 | I r 2
17 T o 9 T ]
. , —“-w_-_ﬂ,..’.‘;”___ﬂ_ Find the mode, :‘ the. jaa\s _Scoved bj the team- 13 | ; | )
|: l:A*L L) ' S olution: y | ‘;""_"” p ST —""————-———j ; D hiey
‘ u" l o SRl
i | Aﬂu N '\:he, omts n ascﬁnd n oscdey. | T R e
rotal R R nng P 9 | Total | 32
| . . D 21.28,28,29,29, 30, 31,31,31,3), 31,52, 23,34,34, — SStamits. R
el g ’ 7 ) b > 2 ? ’ ’ H'tjhegt -S"f ec}uen c 10
'. ‘Qﬁ‘ﬁx IS\'\ESt 'freque.nc:j =9 395, 35:36133133' ‘ Eﬁa_e 3 15:&3
SN R ! b imes - —
:, ?F\ Mode -1'5] o =\ occur.s( mjx MU numbey of time iob_,__c_il'fe.% ype cjuestions
e o Mmode = 5‘ —r
EWE\Q ] The —_’followma c:!a‘l‘a l__- '5 “The —olours used *‘:‘j the _six =students
_shg,os TR the e 0& pnt 5‘,2“1- .3 'The, a'{ses (pn ﬂea‘rs) o-& |rC'?iiCth Phbers -}cw G‘raw-nj 1S b\ue c}ranse yellews b te,jran
b}j the students -f‘Or studj ave given below: 25, 36,29,38,40,36,25,25, and blue. -then the mede. is — =
| 28,2 6,36. Find the mode cof their ages. : Ple coloux occurs Maximum number of Himes
Numbe‘r 0} Stlldy hours l 2 | 3 ’+ 5 é 5::\“{‘0“: o~ : mode = Blue. ] A
P S . \§ ( j blu.e I
2 (7] A Find the o ”5
| Number of students | 4 I | |O Arcanging the ages o ending  ovder. |6 Fin "rhE & mede ot deda =,6.9 .12, 15
s
F'md “the mode . 06,25,25 , 26, 36,36 ,36, 38,38 ,39, 440. | — 7 Yepetition of values
X > 3 PR ,00 ,00, ) ) s 4 | heve is wores Ao
‘d —SOluhon 4 2-6 and- 36 CDC--CMYS MaAa > MUY r}mmbe\f‘: LS
‘?\0 Lh v | Ans (V) No mode
(o) ' . : : e LA —
One hour ;5’cu3-5 time i —Spent bﬂ § times FIRENA  the modes . REar T TR
SN . 71, b, 5’ n.
m._axlmum. number 0} -5"*"13'7"5- [I'node —— L] Pvia 94ing the numberS In ascendina oy dor.
Eooies ot 5 R :
ode = hour\ |
X ‘\1{’"‘“ : ; | | : and 2. occurs Maximum numbey ::'E\ times
1 N W ]
\Se‘ £ B e e e T Y
| * FOAD) Ans: )\
e A - b | (2 and
= T N ~ kindly send me your kﬂey Answers to ou:I email id - padasalai.net@gmail.com Qg o e .
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o \\%} .

Med.an i1s the mwu‘% moest Va.h.te. 0% the
31'4911 da['a,

I(

L1(t)’ ‘term-r('o 1)“ 't‘erm}

5 ".:I'i'{5ih term+ 6! ‘l'erm}

“To “'hr-\ the. med TN
des::.endm arAe.‘r e |
H - - :
\;\() :L}h ‘te.’fm S the mecdion. - 335k3
<P " ot g
i
-E:;J“g‘e’ {‘_0 E ]e 5.0 AR\ Y
Find the median 1'1 e _‘o\\omws h_C-Te.afe o collection OSISL okeesvations wi th
jd% SEORES - 63;“:'73 % 215,710,713 median (6.
_So\uhon. B0 —Solution:
Aimhjms the 301{ .3:.9123 m ascendi :j O,Aef_ The numb_eroj- 'cjbﬂawatrons =13 (even)
65,¢8.10 72,75 ,7%,79 'There""-dré 2 riddle  -values.
N=7 (odd) Average =16
\ 4+18 —
_M\-:\*--:;\PE Medion = (D%—l)a‘ term | H;'_ e
\;%}rm ("[-t-l ‘“‘ ' rq?Eﬁu'l fE’A dat’l 1S 2;"*,—,: q ) ]7—;“": |81 Q""’: Q'&! 3?!th62-
i*r;l : = —_— mm —_— - .~=_“'-4.-'-' |
'- % 121: Example. =. 1‘5 |
= (%) term | e lﬁehm Cin Amab) of I ijQS"f LED bulbg
=t tesm s gwen in Aaus. 265,847,730, (0945, S47T,912, 265,

| 460, |825’1550,3§¢F‘.- Find the rec)ian llie +ime oi-
the LED bulb2. o

The weigts of l0 students (in ka) axe
25,42, 40,328,252, 29,45, 20,24 . Find the

E 1]fl'ﬂd|€ln Oi- 'H‘mt' weijht?
Sclution:

Aﬂ'dnﬂms ihe weﬁft& m ascend t‘j OTC"QT
no,2k4,25,29,3%,35,28,40, 42,45

I ) Gy

« )\(\'- |

_“Solution:
A Armnglnj the dada n ms:::encims osder.

1365,368,54‘], 541 720,972,195, 1460 ,1500,1825, 200
Nn= 11 (odd) PN

Median — ..'!-;—_‘)th texm
& (uﬂ)“" teym

!
Wh )Y
. T\ \

n-low
. 175 th
| Median weight = % tesm +(‘1 *' term I

(l%) teym

T;Zeck;:m e ql—'l-x

e —— __.,u-—-—r — e ———— e e g .

“The median \&e’nrne. Dt the LED

———— e = e

Emmfle- 5l

e e T i —————

12,7,22,4519)10,5,26 .
._50\9'50!'1:

5,7,10,12,1%,19 23,26

n=28 (even)

Median = L {(%)Th term r(f’i T|>1h ‘tewm}
&7 _Li_ (%’)th”t'ETm*(%—“) ‘te:'m‘}'
2P {4‘"‘ tesm + S Tem}
o {1:2_-*-“-;}
il % g
T- edian = 1'3_;

Exerwcise 5.3
A.Fill in the b\c-nk%

I)‘ﬁ"e TV‘QC‘ an Ci tm c—lo“[f{_ \2, k4 2'5 125 31'1';
W, 42,45 32,22, i3 .

AITC‘T“@*T"S 4he et I C'A,'_';,C?r“.fl'"'-\j craex

W, 12,0422 ,23 25,32, 34 42, 44,45

n= 1l (odd)
Media N+ th
=8 a' - -
(.__i- Tesm
— (LLL‘)1h+EHM
-9
1h
|
(—:I) ‘t(?'Bm

= (,“" tesm

—
—

& 'ﬂv 6t term
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\\& {. _..,...~-4...—-Ih N RSP e gots 1 AUl S el LAt L P 4 PSP PP LIS ) SPEL Tt FIN (SO T . . e T
(i) The. ‘“e‘d*"*“ ok ﬁ'rst 'ten =ven n= 4 (even)
(natural numbere o .
4 | Median

©

AN
\‘:5\‘[}‘"

2.,4,6,8 10,12 ,14 \6%{8’ 20
N =110 (ezlen)

Med.lﬂn = -—iﬂ{(—i') teym + ..I.E-f-I)i.h-re'rm}

1h

oNg = Ji{lo—na_}

E LMEGLCU'I —

th th
- Jﬂ:{ -i-;: teym + (—'g_-"*'*) ‘tefm}
= ‘1:2‘_ {"fth texm+ 81" ‘ba‘a’M}

= L {"l +“l](

e

Median =

2 Find the meo\tam o% the given data :
‘_55' 25, Sk, 36, L;ls 13,28

| 18,25,28, 34, 35,36, 45
NnN=1 (odd)

? Median — (.'l:i;_—‘-)th Tesm
:

= g tb‘i\'-texm
- At'['h teym
I MQAFGU‘I = _‘3’1')

o laHon:
*? -%_arﬁ\nj the da{'a in aSCSraJ l3"‘rf5|f‘3""

3nren belewo . o, 6,8,3 ,5,6,4,7,12,13, |6

10, 4, T+ Find the mecian oﬁ the c?laia-

_Sclution: |
--]Wanj@ the data hg\ ﬁSﬂarAf“ﬁj ovder.

3, b,k 5,6..6,‘7 59 810,10 ,12,13,16

zi' Find the meo\.an 06 the (O obge'rva_ﬂ'lﬂhg 36
23,45,28,39,45,54, 23, 56,25 I-f anctheY
‘o the. <2beve

obsexvation _ss is add

da‘t&.’ wpbai’ would be the new mec[-an?

—oclution:

Amn3\n3 Mc\ai'a. in ascendinj ordeT.

232528 33 36,39, 45,45, Si, 56

Nn=\0 (even)

Mec\.an — {(L'i) “+exm + (_L..—H -i:e }

..—..-.J-— %5 tevym + 6t' "te*sm}

= 1 {36-1—3‘1}

- 5 {7

median

- 31'5\ -

\
[

The added new obsexvation= 35
e 235,026,33,2 5, 36,35,45,45,54,5S6

n..u(odd)
Mmedian = (."_‘_;}J-_L)th texm
() e
2
=
e 6“" tevym

& \ 3
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